
 

 

NKJ CSEET MARATHON TEST SERIES -4 
ECONOMICS  

AND BUSSINESS ENVIRONMENT 
(1-15 MCQs x 2 Marks = 30 Marks) 

 
(16 -35 MCQs x 1 Mark = 20 Marks)

 



 

 

 

 

Q1. Agriculture is the primary source of livelihood for 
about 58 per cent of India’s population 

(a) 58 
(b) 60 
(c) 70 
(d) 65 



 

 

 
 
Q2. The Indian food and grocery market is the world’s 
____largest, with retail contributing 70 
per cent of the sales 

(a) Fifth 
(b) Sixth 
(c) Seventh 
(d) First 



 

 

 
Q3. The Government of India has come out 
__________scheme to provide financial assistance for 
transport and marketing of agriculture products in order to 
boost agriculture exports 

(a) CACP 
(b) TMA 
(c) NABARD 
(d) RRBS 



 

 

 
 
Q4. PMAASHA  stands for 

(a) Prime minister with hope 
(b) Prime minister without hope 
(c) Prime minister advanced agricultural society 

having automation 
(d) Pradhan Mantri Annadata Aay SanraksHan 

Abhiyan' 



 

 

 
 
Q5. CCEA stands for 

(a) Committee for corporate and external  affairs 
(b) Cabinet Committee on Economic Affairs 
(c) Cabinet  committee for external affairs  
(d) None 

 
 



 

 

 
 
Q6. ----------aimed at development of irrigation sources for 
providing a permanent solution from drought. 

(a) Pradhan mantra krishisinchaiyojna 
(b) Pradhan mantra krishipaaniyojna 
(c) Pradhan mantra krishiaajeevikayojna 
(d) All of the above 

 



 

 

 
 
Q7. The Government of India has allowed ____per cent 
FDI in marketing of food products and in 
food product e-commerce under the automatic route 

(a) 50 
(b) 25 
(c) 75 
(d) 100 



 

 

 
 
Q8. India is expected to become the ____ largest 
manufacturing country in the world by the end of year 
2020 

(a) Fifth 
(b) Sixth 
(c) Seventh 
(d) Tenth 



 

 

 
Q9. As of December 2018, premium smartphone maker 
____ is anticipating that India will 
become its largest Research and Development (R&D) base 
within the next three years 

(a) Toshiba 
(b) Samsung 
(c) One plus 
(d) Nokia 



 

 

 
 
Q10. _____States/ UTs have notified a list of white 
category industries exempted from taking 
pollution clearances 

(a) 29 
(b) 30 
(c) 31 
(d) 25 



 

 

Q11.workshops were conducted along with the World 
Bank to address queries posed by 
States/UTs in Tripura, Punjab, Haryana, Daman & Diu, 
Dadra Nagar Haveli, Andaman 
and Nicobar Islands, Goa and ______ 

(a) Kerala 
(b) Tamil nadu 
(c) Karnataka 
(d) Meghalaya 



 

 

Q12. The Commercial Courts Act 2015 has been amended 
to reduce the pecuniary jurisdiction 
of commercial courts from INR 1 crore to INR _____to 
establish commercial courts at 
the District Level 

(a) 0 
(b) 10 
(c) 5 
(d) 3 



 

 

 
Q13. __________ has been introduced which makes it 
possible to generate 
case measurement report on local courts 

(a) A special court 
(b) National judicial data grid 
(c) District court 
(d) None 

 



 

 

 
 
Q14.TEU stands for 

(a) Ten equivalent unit 
(b) Twenty foot equivalent unit 
(c) Twelve foot equivalent unit 
(d) None 

 
 



 

 

 
 
Q15.GIS stands for 

(a) Great indian show 
(b) Geographical index system 
(c) Geographic information system 
(d) None 

 

 



 

 

 
Q16.which of the following states lead in deposit 
mobilization 

(a) Maharastra 
(b) Gujrat 
(c) Madhya Pradesh 
(d) Bihar 

 



 

 

 
Q17.Banking ombudsman means  

(a) Person appointed to recover dues from defaulting borrowers 
(b) A person to whom customers can approach for redressal of 

their grievances 
(c) A person appointed to settle disputes between employees 

and management 
(d) A person appointed by RBI to oversee the functioning of 

foreign banks 



 

 

 
 
Q18.If government wants to boost investment and 
production it will _____ bank rate 

(a) Increases 
(b) Decreases 
(c) Constant 
(d) cannot say 



 

 

 
Q19.Credit rationing is _____ policy 

(a) quantitative  
(b) qualitative 
(c) both  
(d) none 

 
 



 

 

 
Q20. Bad and doubtful debts of scheduled commercial 
banks are known as 

(a) withdrawal of assets 
(b) non performing assets 
(c) non recoverable assets 
(d) none 

 



 

 

 
Q21.Due to opening of new branches in the economy the 
population per bank has 

(a) increased 
(b) decreased 
(c) remained constant 
(d) nothing can be said 

 



 

 

 
Q22. FEMA stands for 

(a) foreign exchange management act 
(b) funds exchange management act 
(c) foreign exchange mismanagement act 
(d) foreign exports manage 

 
 



 

 

 
Q23.Which of the following is not covered under the 
classification of banks in India?  

(a) Commercial Banks 
(b) Indigenous Money Lenders  
(c) Small Finance Banks  
(d) Payment Banks  



 

 

 
Q24.Salaries, subsidies and interest payments of 
government are covered under which of the following?  

(a) Capital Expenditure 
(b) Miscellaneous Expenditure  
(c) Imputed Expenditure  
(d) Revenue Expenditure 



 

 

 
Q25. A__________ is one when there is no change 
produced in the demand of a product with change in its 
price. 

(a) Perfectly Elastic Demand  
(b) Unitary Elastic Demand  
(c) Perfectly Inelastic Demand  
(d) Relatively Elastic Demand 



 

 

Q26.rom the following information, calculate Personal Income.  
Private Income = INR 2000 crore 
 Undistributed Corporate Profits = INR 500 crore  
Taxes on Profits = INR 300 crore  

(a) INR 2800 crore  
(b) INR 1200 crore  
(c) INR 2300 crore  
(d) INR 2000 crore 

 



 

 

Q27. Calculate private income from the following data. 
 Contents ` (in crores) Net current transfers from the rest of the world 10  
Private final consumption expenditure 600  
National debt interest 15  
Net exports -20  
Current transfers from the government 5 
 Net domestic product at factor cost accruing to the government 25  
Government final consumption expenditure 100 
 Net indirect tax 30  
Net domestic capital formation 70  
Net factor income from abroad 10 

(a) 735 crores  
(b) 750 crores  
(c) 790 crores  
(d) 800 crores  



 

 

 
Q28. Ease of Doing Business Report is prepared by which 
of the following organisation? 

(a) United Nations Organisation (UNO)  
(b) South Asian Association for Regional Cooperation 

(SAARC) 
(c) World Bank 
(d) Association of South East Asian Nations (ASEAN)  



 

 

 
Q29.he elements like growth, employment, inflation and 
interest rates would be covered under which macro-
environment factor? 

(a) Economic  
(b) Social 
(c) Technological  
(d) Political  



 

 

 
Q30. Which of the following is not the affiliated office of 
Ministry of Corporate Affairs? 

(a) Competition Commission of India  
(b) Serious Fraud Investigation Office  
(c) Central Statistics Office  
(d) Indian Institute of Corporate Affairs  



 

 

Q31. Which of the following is the implementing agency 
of Pre-Departure Orientation Program (PDOT )Program? 

(a) Industrial Finance Corporation of India  
(b) National Bank for Agriculture and Rural 

Development  
(c) National Skill Development Corporation  
(d) Insurance Regulatory Development Authority of 

Indment act 



 

 

Q32.If the demand for a good is inelastic, an increase in its 
price will cause the total expenditure of the consumers of 
the good to: 

(a) Increase 
(b) Decrease 
(c) Remain the same 
(d) Become zero 



 

 

 
 Q33.The horizontal demand curve parallel to x-axis 
implies that the elasticity of demand is: 

(a) Zero 
(b) Infinite 
(c) Equal to one 
(d) Greater than zero but less than infinity 



 

 

 

Q34.In the short run, when the output of a firm increases, 
its average fixed cost: 

(a) Remains constant 
(b) Decreases 
(c) Increases 
(d) First decreases and then rises 



 

 

 
Q35.The cost of one thing in terms of the alternative given 
up is called: 

(a) Real cost 
(b) Production cost 
(c) Physical cost 
(d) opportunity cost 
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CURRENT AFFAIRS 
(1-5 MCQs x 2 Marks = 10 Marks) 

(6 -15 MCQs x 1 Mark = 10 Marks) 

 



 

 

 

1.Mary Kom won which medal at the 2021 ASBC 
Asian Boxing Championships?  

a. Gold  

b. Silver 

 c. Bronze  

d. None of the above 



 

 

 

 2. Who recently has been appointed as the new 
Chairman of the National Human Rights Commission? 
a. Arun Kumar Mishra  

b. AK Sikri  

c. MB Lokur 

d. Indu Malhotra  



 

 

3. Who among the following billionaires is planning to 
travel to space in July 2021? 

 a. Mark Zuckerberg  

b. Elon Musk  

c. Jeff Bezos  

d. Bill Gates 



 

 

4. Who has become the world's fastest woman to scale 
Mount Everest? 

 a. Tsang- Yin-hung  

b. Bena Thang  

c. PunjoJhangmu Lama  

d. Tenzin Chuney 



 

 

5. Abdulla Shahid has been elected as President of the 
76th United Nations General Assembly session. He is 
the foreign minister of which nation?  

a. Sri Lanka 

 b. Mauritius  

c. Maldives  

d. NONE 



 

 

 

6. Who has been appointed as the new CBI Director? 

 a. Rakesh Asthana 

 b. YC Modi  

c. Subodh Jaiswal  

d. SS Deswal 



 

 

7. Which nation recently honoured Nobel Laureate 
Amartya Sen with its top award in social sciences?  

a. Denmark  

b. France  

c. Spain  

d. Germany  



 

 

8. Who has been crowned Miss Universe for the year 
2020?  

a. Adline Castelino 

 b. Andrea Meza  

c. Julia Gama 

 d. Janick Maceta 



 

 

9. The Defence Ministry has signed a contract with 
which among the following firms to procure 11 Airport 
Surveillance Radars?  

a. HAL 

 b. Reliance  

c. Tata Motors  

d. Mahindra Telephonics 



 

 

10. Which nation is planning to ban its citizens from 
investing in Chinese tech and Defence firms with 
alleged military ties? 

 a. India  

b. Bangladesh  

c. US  

d. Japan 



 

 

11.Who among the following has been appointed as the 
deputy governor of RBI?  

a. T N Rao  

b. T Rabi Shankar  

c. Venugopal Menon  

d. Shashi Iyer 



 

 

12. Recently, the Cabinet has given its approval for 
strategic disinvestment in which bank? 

 a. SBI  

b. IDBI  

c. Bank of India  

d. Bank of Baroda  



 

 

13. N Rangasamy took oath as the Chief Minister of 
which state/ UT on May 7th? 

 a. Kerala 

 b. Tamil Nadu  

c. Puducherry  

d. None of the Above  



 

 

14. Who is newly elected Chief Minister of State of 
Tamil Nadu? 

 a. Mamta Banerjee  

b. M K Stalin  

c. EdappadiPalaniswami 

d. M Karunanidhi 



 

 

15. Former Attorney General of India Soli Sorabjee 
passed away on April 30, 2021. When he first 
appointed as Attorney General of India? 

 a. 1979  

b. 1989  

c. 1999  

d. 1982  
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1. A___________ is used to end a declarative sentence, 
a sentence which is not a question or an exclamation.  
a. Comma  
b. Space  
c. Hyphen  
d. Full stop  



 

 

 
 

2.  Give an Antonym for the word: Audacity  
a. Affectionate 
 b. Lavish  
c. Bravado  
d. Cowardice  
 



 

 

 
 

3.  Noise is a _____________ barrier to communication. 
 a. Physical 
 b. Socio-Psychological 
 c. Semantic  
d. None of the above  
 



 

 

 

4.  Which of these reports contains information of a 
routine nature?  
a. Progress report  
b. Periodic report  
c. Laboratory report 
 d. Trouble report  
 



 

 

 
5.  In MIS system design, the sources of information 

may be categorized as ________ and__________.  
a. constructive, destructive 
 b. internal, external 
 c. personal, organizational 
 d. useful, unuseful  
 



 

 

 
6. Memo is a type of __________.  

a. Written communication 
 b. Audio visual communication  
c. Audio communication  
d. Oral communication  
 
 



 

 

 
7.  __________allows cumbersome knowledge to be 

maintained and easily accessed throughout the 
company using hypermedia and web technologies.  
a. Web publishing  
b. Web communication  
c. Web circulars  
d. Website  



 

 

 
8.  Fill up the blanks by choosing the most appropriate 

option: There isn't _______ water in the overhead 
tank.  
a. Lot of  
b. Little  
c. Any 
 d. Something  



 

 

 
9.  Choose the most appropriate option for each of the 

following questions: “Faux pas” means:  
a. Fake identity  
b. Social blunder 
 c. False 
 d. Expected to happening  
 



 

 

 
 

10. _______ is used to find, retrieve and display 
information available on the World Wide Web. 
 a. Internet  
b. Web browser 
 c. Email  
d. Intranet  



 

 

11.  ‘A communication should be clear so the 
recipient can understand what the sender really wants 
to communicate’ denotes which Principle of 
Communication?  
a. Principle of Conciseness  
b. Principle of Consideration  
c. Principle of Correctness  
d. Principle of Clarity 



 

 

 
12. Read the jumbled passage carefully and then pick the option in which the best sequence is 

shown  
i) This clearly indicates that the brains of men and women are organized differently 

in the way they process speech.  
ii)  Difference in the way men and women process language is of specially interest to 

brain researchers.  
iii) However, women are more likely than men to suffer aphasia when the front part of 

the brain is damaged.  
iv) It has been known that aphasia-a kind of speech disorder - is more common in men 

than in women when the left side of the brain is damaged in an accident or after a 
stroke The best sequence is: a. ii,iv,iii,i b. iv,i,iii,ii c. ii,i,iii,iv d. iv,iii,ii,i  

 



 

 

 

 

13.  Find out the appropriate meaning of the given 
word from the choices given below it: Empathy  
a. Tranquillity 
 b. Opposition  
c. Understanding  
d. Ire 



 

 

 

14. Choose the most appropriate option for each of the 
following question: “Mala fide” means: 

 a. bad intention  
b. generous  
c. genuine  
d. trustworthy 



 

 

 

 

15. Choose the most grammatically correct option from 
below 

a. The Titanic did not reach its destination  
b. The Titanic did not reach her destination 
 c. The Titanic did not reach their destination 
 d. The Titanic did not reach his destination  



 

 

 
 
 

16. Choose the correct spellings in options given below  

a. Remuneration  
b. Renumeration 
 c. Remunaration  
d. Renumaration  



 

 

 

 

17. The Listener forming a biased opinion by looking at 
the speaker’s look, dress and mannerism is a sign of:  

a. Pre-judging the speaking  
b. Diffidence  
c. Over enthusiasm 
 d. Disinterestedness  



 

 

 

18.According to __________, Communication in its 
simplest form of conveying of information from one 
person to another.  

a. Drucker  
b. Kotler  
c. Hudson  
d. Scott  



 

 

 

 

19.Full form of www is: 

 a. World wide web  
b. World with web  
c. World wide word  
d. Web wide world  



 

 

 

20. __________ follows the organisational hierarchy 
and chain of command.  

a. Wheel network of communication 
 b. Chain network of communication 
 c. Star network of communication 
d. Circuit network of communication 
 



 

 

 
 
21. The rains are called after flowering plants because 
…………………………. .  
a. heavy rains kill plants. 
 b. flowers grow in the rainy season. 
 c. it is believed that the plants bring the rain.  
d. flowers grow all the year round.  



 

 

 
 
22. The rain is like a calendar for farmers because 
…………………………. .  
a. it tells them when to sow and when to harvest.  
b. it tells them the birthdays of their children.  
c. each month has a time for plantation.  
d. different kinds of rain tell different things. 



 

 

 
 
 23. People who live in cities don’t like rain because 
…………………………. .  
a. it brings mud and sickness with it.  
b. they are not bothered about the farmers.  
c. they don’t like the plants that grow during the rain.  
d. going shopping becomes difficult.  



 

 

 
24. People pray asking the rain to retreat because 
…………………………. .  
a. the fungus and mould need to dry.  
b. children don’t get a chance to play.  
c. the crops need the sun and heat to ripen.  
d. they like to pray.  
 



 

 

 
 
25. People learn not to complain because 
…………………………. .  
a. they have become better and wise.  
b. rain is farmer’s friend and brings food to the table. 
 c. they cannot satisfy the rain gods. 
 d. they can’t change the weather cycles.  



 

 

 
26. Which of these is not a benefit of Intranet?  
a. Business Operations and Management  
b. Promote Common Corporate Culture 
c. Supports a Distributed Computing Architecture  
d. Delayed update mechanism.  
 
 



 

 

            

 27. Which of these best defines an ADR?  

a. A statutory document filed by every company annually with the Registrar of 
Companies, stating the particulars such as status, names of directors, shareholders, 
indebtness etc. of the company 
 b. A receipt showing evidence that shares of a foreign corporation are held on deposit or 
under control of an U.S banking institution used to facilitate transactions and expedite 
transfer of beneficial ownership for a foreign security in the United States.  
c. The financial statement generally prepared at the end of a period usually the financial 
year showing the assets, liabilities and net worth of an organisation.  

d. None of the above. 
 
 



 

 

 
 28. Travel Magazine did ___ extremely interesting 
article on __ world’s most amazing buildings. a. An, a  
b. A, An  
c. An, The  
d. The, Is  
 
 



 

 

 
 
29. Which is or are the factors responsible for  
communication failures?  
a. Lack of planning  
b. False assumptions  
c. Ambiguity  
d. All of the above  



 

 

 
30. The channel of communication which is mostly 
associated with gossip and rumours is called: a. 
Formal communication  
b. Grapevine  
c. Social gatherings  
d. Upward communication  
 



 

 

 
31. ________ is a physiological process which 
involves receiving the sound waves by the eardrum 
and transferring them to the brain.  
a. Explaining 
 b. Telling  
c. Hearing  
d. Listening  



 

 

 32. Which of the following is not the purpose of 
listening?  
a. To critically assess what is being said.  
b. To show interest, concern and concentration. 
 c. To encourage the speaker to communicate fully, 
openly and honestly  
d. To avoid gaining a full and accurate understanding 
into the speakers point of view and ideas.  



 

 

33. In_______, the listener has a purpose of not only 
empathizing with the speaker but also to use this deep 
concentration in order to help the speaker understand, 
change or develop in some way.  
a. Sympathetic listening  
b. Appreciative listening 
 c. Therapeutic listening  
d. Biased listening  



 

 

 
 
34. A____________ helps us in retrieving the letter at 
a later stage.  
a. Reference Number  
b. Receipt Number  
c. Voucher Number  
d. Register Number  



 

 

 

35. Which of the following is or are the purpose of MIS?  

a. To prepare short and long-term plans for the future.  
b. To allocate different types of resources to different 
functional areas.  
c. To allow management by exception.  

     d. All of the above 
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                        LEGAL APTITUDE 
 
 
 
 
 
 
 

(1- 10 MCQs x 2 Marks = 20 Marks)  
(11 -15 MCQs x 1 Mark = 05 Marks) 



 

 

 
 

1. Which of the following JUSTICE is not secured to all its 
citizens according to Preamble of the Constitution of India?  
a) Social  
b) Political  
c) Financial  
d) Economical 

 
 



 

 

 
2. Protection of Life and Personal Liberty is provided 
in __________________ of the Constitution of India.  
a) Article 21  
b) Article 21A 
 c) Article 25  
d) Article 123 
 



 

 

 3. _________________________ is also known as Mini-
Constitution. 

 a) Constitution (Forty – Second Amendment) Act, 
1976  
b) The Constitution (Second Amendment) Act, 1952  
c) The Constitution (First Amendment) Act, 1951 
 d) Constitution (Sixty – Ninth Amendment) Act, 
1991  



 

 

4. Which of the following statement is true with 
respect to ‘Del Credre Agent’?  
a) A del credere agent is a mercantile agent  
b) A del credere agent is not an Agent  
c) A del credere agent is owner, not an agent 
 d) In the event of a third-party failing to pay, the del 
credere agent is not bound to pay his principal the 
sum owned by thirdparty 



 

 

 
 5. Which of the following is not a disadvantage of 
Corporate Form of Enterprise?  
a) Formalities and expenses 
 b) Corporate disclosures 
 c) Limited Liability  
d) Detailed winding-up procedure 
 



 

 

 
6. The plan to transfer power to the Indians and 
partition of the country was laid down in the? 
 a) Cabinet Mission Plan 
 b) Simon Commission 
 c) Cripps Mission  
d) The Mountbatten Plan 
 



 

 

  
7. Who among the following has been given rights to 
legislate on residuary subjects?  
a) State government  
b) Central government 
 c) Both central and state governments  
d) President 
 



 

 

 
 8. Which Article in the Constitution provides 
guidelines for amending the Preamble? 
 a) Article 30  
b) Article 200  
c) Article 368  
d) Article 256  
 



 

 

 
9. In a standardized contract:  
a) The individual has no choice but to accept and sign 
on the dotted line.  
b) The individual must be protected in contract.  
c) The agreement is without consideration.  
d) None of the above.  
 



 

 

 
 
10. The correct sequence in the formation of a 
contract is:  
a) Offer, acceptance, agreement, consideration.  
b) Agreement, consideration, offer, acceptance.  
c) Offer, Consideration, acceptance, agreement.  
d) Offer, acceptance, consideration, agreement.  



 

 

11. Unliquidated damages mean  

a) Damage to something solid. 
 b) Damage caused by a firm which has gone in 
liquidation  
c) Damage to a firm in the hands of receivers. 
 d) Damage to be assessed by a court as these are not 
pre-determined. 
 



 

 

 
12. In which year, Article 370 of Indian Constitution 
is abrogated?  
a) 2016  
b) 2017 
 c) 2018  
d) 2019 2.  
 



 

 

 

13. What is the meaning of adjournment ‘sine die’?  

a) Terminating a sitting of the state legislature for an indefinite 
period  
b) Terminating a sitting of the state legislature for some hours  
c) Terminating a sitting of the state legislature for some days  
d) Terminating a sitting of the state legislature for some months  

 
 



 

 

 
14. The Supreme Court of India at present contains 
the following number of Judges?  
a) 25 judges 
 b) 34 judges 
 c) 20 judges 
 d) 30 judges 
 



 

 

 
 15. Every promise and every set of promises forming 
the consideration for each other  
a) A proposal 
 b) An offer 
 c) An agreement  
d) None of above  
 



 

 

 
16. A proposes by letter to sell a house to B, the 
Communication of the proposal is complete  
a) When A make such proposal 
 b) When B accepts the proposal 
 c) Both (a) and (b) 
 d) None of above 

  



 

 

NKJ CSEET MARATHON TEST SERIES -4 

                     PRESENTATION SKILLS 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 

 

 



 

 

1. A word used to describe or point out, a person, animal, 
place or thing which the  
noun names, or to tell the number and quantity, is called 
a/an ___________.  
a) Adjective  
b) Verb  
c) Noun  
d) Preposition  
 



 

 

 
2. A ____________, by definition is placed before a noun 
or its equivalent in order to show  
its relationship in terms of time, place, etc.  
a) Pronoun  
b) Preposition  
c) Verb  
d) Noun  
 



 

 

 
3. Which of the following is not the tip for choosing right 
words?  
a) Simplicity  
b) Use familiar words  
c) Choose short words  
d) Use Gender oriented words  
 
 



 

 

 
 
4. The words, Access and Excess are examples of:  
a) Synonym  
b) Antonym  
c) Homophone  
d) Homonym  
 
 



 

 

 
 
5. Anno Domini means:  
a) For the Lord  
b) Faith on the Lord  
c) Believer of Lord  
d) In the year of the Lord  
 
 



 

 

 
6.A________ helps us in retrieving the letter at a later 
stage.  

a) Reference Number  
b) Special Markings  
c) Inside Address  
d) Attention line  

 



 

 

 
 
7. What will be the correct order of the following steps of 
communication?  
a) Receive, Transmit, Encode and Develop an Idea.  
b) Encode, Develop an Idea, Receive and Transmit  
c) Develop an Idea, Encode, Transmit and Receive  
d) Transmit, Develop an Idea, Receive and Encode  
 



 

 

 
 
 
8. Which of the following is not the form of digital 
communication?  
a) Video Conferencing  
b) Letter sent through post.  
c) Blogs  
d) Skype  



 

 

 
 
9. In _______________, we make judgments about what 
the other person is saying.  
a) Evaluative listening  
b) Biased listening  
c) Appreciative listening  
d) Empathetic listening  
 



 

 

 
10. Which of the following is a disadvantage of using 
email communication?  
a) Email is fast  
b) Email is inexpensive  
c) Email is easy to filter  
d) Internet connectivity  
Instructions for Question 11 to 13: Tick the correct 
Dialogue for Fill in the Blank  
 



 

 

 
 

12._________ allows viewing multiple pages in the 
same browser without opening a new browser session.  

a) Address bar  
b) Search  
c) Tab  
d) Home  
 Answers 



 

 

 
 
 

12. A: What is your favourite subject?  
B: My favourite subject is English.  
A: _____________________________  
B: Yes, but I like doing homework.  
a) Does your English teacher give much homework?  
b) Did you do your homework?  
c) How much homework does your teacher give?  
d) Don't you like other subjects?  



 

 

13. A: Do you have to wear school uniform?  
B: ________________________  
A: So, you are lucky.  
B: Yes, wearing school uniform is not compulsory in my 
school.  
a) Yes, I have to.  
b) No, I don't have to.  
c) I must wear school uniform.  
d) Yes. My school uniform is blue.  



 

 

14. Which of the following is NOT a rule of precis 
writing?  
a) Always have a heading  
b) Use as extensive vocabulary as possible  
c) Remove any irrelevant information present in the 
original passage  
d) Do not use any short forms or abbreviations  
15. What is the meaning of Precis?  
a) To write meaning  



 

 

b) To write in own words  
c) To write a paragraph  
d) To cut Short  



 

 

16. What is the Antonym of FOREMOST?  
a) Unimportant  
b) Disposed  
c) Mature  
d) Premature  
 
 
 
 



 

 

 
17. What is Antonym of BEAUTIFUL?  
a) Wonderful  
b) Graceful  
c) Ugly  
d) Handsome  
 
 
 



 

 

 
18. What is the Synonym of FOSTERING?  
a) Safeguarding  
b) Neglecting  
c) Ignoring  
d) Nurturing  
 
 
 



 

 

 
19. One who abandons his religious faith?  
a) Apostate  
b) Prostate  
c) Profane  
d) Agnostic  
 
 
 



 

 

 
20. Rajeev failed in the examination because none of his 
answers were ______ to the  
questions asked.  
a) Allusive  
b) Revealing  
c) Pertinent  
d) Referential 

 



 

 

 

         NKJ CSEET MARATHON TEST SERIES - 4 

                     LOGICAL REASONING 
 

(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 

 



 

 

 
1. 84 78 72 66 60 54 48 
(a) 44 34 
(b) 42 36 
(c) 42 32 
(d) 40 34 
(e) 38 32 

 



 

 

 
2. 20 20 17 17 14 14 11 
(a) 8 8 
(b) 11 11 
(c) 11 14 
(d) 8 9 
(e) 11 8 

 



 

 

 
 
3.  61 57 50 61 43 36 61 
(a) 29 61 
(b) 27 20 
(c) 31 61 
(d) 22 15 
(e) 29 22 



 

 

 
4.  9 12 11 14 13 16 15 
(a) 14 13 
(b) 18 21 
(c) 14 17 
(d) 12 13 
(e) 18 17 

 



 

 

 
5. 4 8 22 12 16 22 20 24 
(a) 28 32 
(b) 28 22 
(c) 22 28 
(d) 32 36 
(e) 22 26 

 



 

 

 
6. 40 40 31 31 22 22 13 
(a) 13 4 
(b) 13 5 
(c) 4 13 
(d) 9 4 
(e) 4 4 

 



 

 

 
7. 1 10 7 20 13 30 19 
(a) 26 40 
(b) 29 36 
(c) 40 25 
(d) 25 31 
(e) 40 50 

 



 

 

 
8. 10 20 25 35 40 50 55 
(a) 70 65 
(b) 60 70 
(c) 60 75 
(d) 60 65 
(e) 65 70 
 



 

 

 
9. ln a company all Mondays and Sundays are offs. If 
a month starts with a Monday and has 31 days then 
how many offs will be there in that month? 
(a) 7  
(b) 8 
(c) 9  
(d) 5 
 



 

 

 
 
10. On what dates of April, 2001 did Wednesday fall? 
(a) 2nd,9th,16th,23rd  
(b) 4th,11th,18th,25th 
(c) 12th,18th,27th,6th  
(d) 1st,8th,15th,22nd 
 
 



 

 

 
11.On 8th Dec, 2007 Saturday falls. What day of the 
week was it on 8th Dec, 2006? 
a)Saturday  

    b)Friday 
    c)Monday  
   d)Tuesday 

 
 



 

 

 
 
12. On 8th Feb, 2005 it was Tuesday. What was the 
day of the week on 8th Feb, 2004? 
a)Tuesday  

    b)Saturday 
    c)Friday  
   d)Sunday 

 



 

 

 
13.The angle between the minute hand and the hour 
hand of a clock when the time is 4.20, is: 
(a) 0  
(b) 10 
(c) 30  
(d) 60 

 



 

 

 
14.In 16 minutes, the minute hand gains over the 
hour hand by - 
(a) 16 deg  
(b) 80 deg 
(c) 88 deg  
(d) 94 deg 

 



 

 

15. At 6′o clock a clock ticks 6 times. The time 
between first and last ticks is 30 seconds. How long 
does it tick at 12′o clock ? 
(a) 66 sec  
(b) 55 sec 
(c) 36 sec  
(d) 24 sec 

 



 

 

 
 

16. Some letters are given below in the firstline and numbers are given below themin the 
second line. Numbers are thecodes for the alphabets and vice-versa. 
Choose the correct letter-code for thegiven set of numbers. 
E M K B Z W Q U D J 
5 9 1 6 4 8 2 0 7 3 
4 2 9 7 5 3 
   a) ZQMJDE  

b)ZQMEDJ 
c)ZQMDEJ  
d)ZQEDMJ 



 

 

 
17.Some capital letters are given below inthe first line and numbers are assigned toeach 
of them in the second line. Thenumbers are the codes for the letters andvice-versa. 
M O E A S J T Z 
3 5 7 6 2 9 4 0 
Choose the correct number code for thegiven set of lettersEAST 

(a) 7620  
(b) 7623 
(c) 7624  
(d) 7625 

 

 



 

 

 
18. If DISC is coded as 8749 and ACHE iscoded as 
3950, then HEAD is coded as 
(a) 5308 
(b) 5038  
(c) 3508  
(d) 3805 
 

 



 

 

 
19. Arrange the given words in alphabetical order 
and choose the one that comes at the second plan 
(a) Bathing  
(b) Banking  
(c) Backing  
(d) Banishing  

 
 



 

 

 
 
20.Arrange the following words will come in middle 
if all of them are arranged alphabetically as in a 
dictionary? 
(a) Tennis 
(b) Tendon 
(c) Tender 
(d) Tempest 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 



 

 

                ECONOMICS  AND BUSSINESS ENVIRONMENT 
 
 
 

1 A 2 B 3 B 4 D 5 B 

6 A 7 D 8 A 9 C 10 C 

11 D 12 A 13 B 14 B 15 C 

16 A 17 B 18 B 19 B 20 D 



 

 

21 B 22 A 23 B 24 D 25 C 

26 B 27 A 28 C 29 A 30 C 

31 C 32 A 33 B 34 B 35 D 

 
 
 
 
 
 
 
 



 

 

                        CURRENT AFFAIRS 
 

1 B 2 A 3 C 4 A 5 C 

6 A 7 C 8 B 9 D 10 C 

11 B 12 B 13 C 14 B 15 B 

 
 
 
 
 
 



 

 

                               

                       BUSSINESS.COMMUNICATION  
 
 
 

1 C 2 D 3 A 4 B 5 B 

6 A 7 A 8 C 9 B 10 B 

11 D 12 A 13 C 14 A 15 A 

16 A 17 A 18 C 19 A 20 B 



 

 

21 C 22 A 23 A 24 C 25 C 

26 B 27 B 28 C 29 D 30 B 

31 C 32 D 33 C 34 A 35 D 

 
 
 
 
 
 
 
 
 



 

 

 

                           LEGAL APTITUD 
 

1 C 2 A 3 A 4 A 5 C 

6 D 7 B 8 C 9 A 10 D 

11 D 12 D 13 A 14 B 15 C 

 
 
 
 
 



 

 

  

                              PRESENTATION SKILLS 
 

1 A 2 B 3 D 4 C 5 D 

6 D 7 C 8 B 9 A 10 D 

11 B 12 A 13 B 14 B 15 D 

16 A 17 C 18 D 19 A 20 C 

 
 



 

 

 

                                   LOGICAL REASONING 
 

1 A 2 E 3 E 4 E 5 C 

6 A 7 C 8 E 9 C 10 B 

11 B 12 C 13 B 14 C 15 A 

16 C 17 C 18 A 19 D 20 B 

 



 

 

 

    Thank you  
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